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Ex/ED/Sans//3.5/28/2017

BACHELOR OF ARTS EXAMINATION, 2017
(2nd Year, 3rd Semester)

SANSKRIT (E. D.)

Course : E.D. - 3.5

(Sanskrit  Prose Literature and Composition)

Time : Two Hours Full Marks : 30

The figures in the margin indicate full marks.

1. Answer any five of the following questions either  in English
or in Bengali : 1×5=5

[
]

(a) Name six faults that a man, desirous of welfare, should
avoid ?

[ ]

(b) Who is considered as a wise man ?

[ ]

(c) i¶FÎÛFÜFF ÚF½k ÎF =_+¶Fk ÜF¼·F ÛFFÞF¶ÛF=W+ PæFèæFFõF: =_+¶F:j<

Who said this ? Who is referred to by the term
ÛFFÞF¶ÛF=+ ?

[ ÛFFÞF¶ÛF=+
]
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[  2  ]

(d) i¼¼_èF]è˜F ¶F¼æFõ»Fk ÞF¡F=]+ÛFFÞÛFhj<
Who saw the prince and in what condition did they see
him ?

[
]

(e) Where from did Enajangha
 

return and whose message
was reported by him ?

[
]

(f) iÑFèÜF¶F] ÑFP¶FÛFÃYæF èF[áFFæF¶FkPõF¶FÛFh...j<
Who said this and when (was it said) ?

[ ]

2. Translate into English or Bengali (any one) : 4

[ ]

õF ] Ñ ¶ FÜ F Xõ¶F ]  ¶ FÜ F X: õæFÑÎ F W  Pæ FõF; F ]µ F PÎ F; F P°¶FÑ F F¼X ¡FÞ*:
=+Pè˜F¡¡FFáFÑFF¼XN¼_èÜF¶F Ò¶ÜFÙF ]ÍÜF W¶FF k ˜FXÚFF Y— E»F ¶FõÜF
ÞF¡F=]+ÛFFÞõÜF =+ÛFáFÛF [³ sèFPèFP=+ÞµFÞ¡¡F ]¼FÛFPÎF ;F _ùU¶FPÛFæF
Þ¡F¶FèF_“~áFXÑF;F[³sk ˜FÞµFÜF];FáFÛFFõFU¶Fh—

Or / E»FæFF,

J=+X æF_ÊæÜFFfFe: õÎFF¶F: =]+èFùõ¶F: õFÞõ¶FUÞW ÙFe[¶FW < ÚFX: ÚFX:
ÑFFÎ»FF:, G¼k õF]æFµFa=+’~µFk ;F_þ¶FFÛFh— ¶F¶FX áFXÚFF=_+ñWÎF =W+ÎFP˜F¶Fh
ÑFFÎ»FWÎF EFáFXP˜F¶FÛFh < ÚFF;ÜFWÎFY¶F¶Fh õFkÚFæFP¶F— P=k+¶æFPõÛFÎÎFF¶ÛFõFk¼WùW
ÒæF_P¸F: ÎF PæFÍFWÜFF— ÜF¶F:, EPÎFñFP¼ñáFFÚFWNPÑF ÎF ;FP¶F¡FFaÜF¶FW èF]ÚFFF—
ÜF·FFõ¶FW PæFðFõFkõF;FXaNÛF_¶Fk ¶F¼PÑF ÛF_¶ÜFæFW——
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[  3  ]

3. Answer the following question in English or Bengali — 6

[ ]

ii...... EÚFæF¼UÜFk Pù ÎFYæF P=k+P˜F¶Fh ÛF¶õFkÙFÊÛFhjj <

Who said this and to whom ? How did she express her
feelings ?

[
]

Or / E»FæFF,
Explain with reference to the context :

[ ]

EáÑFFÎFFÛFPÑF æFõ¶F[ÎFFk õFkùP¶F: =+FÜFaõFFPÍF=+F—

¶F_µFY;F]aµF¶æFÛFFÑFÎÎFYÙFaÍÜFÎ¶FW ÛF¸F¼PÎ¶FÎF:——

4. Amplify in simple Sanskrit (any one) : 5

[ ]

(a) èFÞUÞk ‡FµFPæFÍæFkPõF =+áÑFFÎ¶Fõ»FFPÜFÎFX ;F]µFF:—

(b) EFÑF¶õF] PÛF·Fk ¡FFÎFUÜFF¼h ÜF]ÊW èF[ÞÛFh—

5. Write a paragraph in simple Sanskrit on any one of the
following : 5

[
]

(a) õFÞõæF¶FUÑF[¡FF—

(b) ;FeUðÛFFæF=+FèF:—
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6. Summarise the following passage in simple Sanskrit : 5

[ ]

PæF=e+ÛF W ÞF¡ÜF k =]+æF aP¶F P·FPæF=e+ÛF EFõFU¶F h ÑF ]ÞXPù¶F:— ¶FõÜF
P·FPæF=e+ÛFõÜF ÑF]·F: =+ÛFáFF=+Þ:— õF PÑF¶F]: ÒõFF¼F¶Fh fF_¶FFY¼ÎFk ÚF]ƒ¶æFF
æFõ·FÚF[ðFµFFP¼ÎFF ÜF»FW˜šk PæFðFÜFõF]&FÛFÎF]ÚFæFÎFh P¶FòP¶F õÛF— J=+¼F
PÑF·FF Hƒ¶FÛFh, ÙFeFüµF¡FÎÛF ÒFÑÜF =+»Fk õæFW˜šFæF_P¸FÞFPêFÜF¶FW ¶æFÜFF?
EÜFÛFF¶ÛFF ¡FÎÛFèF¶Fk ÎFFÎFFÜFXPÎFk ÒFÑÎFXP¶F— ÙFeFüµF=]+áFW ¡FÎÛF ÛFù¶FF
ÑF]µÜFWÎF áFÚÜF¶FW— ¶FááFÙÍæFF EPÑF ¶æFk ¼]ñF˜FFÞX ¡FF¶F:— õFæFa¼F ÙFPùÞWæF
P¶FòPõF, ÚFX¡FÎF=+FáFW JæF ;F_ùÛFFÜFFPõF— J¶F¸F] ÎF õFÛFU˜FUÎFÛFh—

___________

[  4  ]
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